
qm=;+=qm=;+=qm=;+=qm=;+=

Sn
i^

/
Sn

i^
/

Sn
i^

/
Sn

i^
/ uf=lj=;=sf] uf=lj=;=sf] uf=lj=;=sf] uf=lj=;=sf] 

gfdgfdgfdgfd

of]hgf tyf of]hgf tyf of]hgf tyf of]hgf tyf 
ah]^ ah]^ ah]^ ah]^ 
:jLs[lt -1_:jLs[lt -1_:jLs[lt -1_:jLs[lt -1_

cfly{s k|utL cfly{s k|utL cfly{s k|utL cfly{s k|utL 
;dLIff-2_;dLIff-2_;dLIff-2_;dLIff-2_

cg"bfgsf] cg"bfgsf] cg"bfgsf] cg"bfgsf] 
pkof]u tyf pkof]u tyf pkof]u tyf pkof]u tyf 
cfoJoo cfoJoo cfoJoo cfoJoo 
clen]v -3_clen]v -3_clen]v -3_clen]v -3_

clGtd clGtd clGtd clGtd 
n]vf n]vf n]vf n]vf 
k/LIf)f  -k/LIf)f  -k/LIf)f  -k/LIf)f  -
4_4_4_4_

lhG;L lhG;L lhG;L lhG;L 
Joj:yfkg -Joj:yfkg -Joj:yfkg -Joj:yfkg -
5_5_5_5_

;fdflhs ;fdflhs ;fdflhs ;fdflhs 
;/Iff ;/Iff ;/Iff ;/Iff 
sfo{qmd-6_sfo{qmd-6_sfo{qmd-6_sfo{qmd-6_

sd{rf/L sd{rf/L sd{rf/L sd{rf/L 
Joj:yfkg  Joj:yfkg  Joj:yfkg  Joj:yfkg  
-7_-7_-7_-7_

pQL)f{;'pQL)f{;'pQL)f{;'pQL)f{;'
rs rs rs rs 
;+Vof;+Vof;+Vof;+Vof

cg"QL)f cg"QL)f cg"QL)f cg"QL)f 
{;"rs {;"rs {;"rs {;"rs 
;+Vof;+Vof;+Vof;+Vof

;dli^ut  ;dli^ut  ;dli^ut  ;dli^ut  
kl/)ffd kl/)ffd kl/)ffd kl/)ffd 
pQL)f{÷cg"QL)f{pQL)f{÷cg"QL)f{pQL)f{÷cg"QL)f{pQL)f{÷cg"QL)f{

d"Nofª\sg stf{d"Nofª\sg stf{d"Nofª\sg stf{d"Nofª\sg stf{

1 ;]t'{ª;]t'{ª;]t'{ª;]t'{ª ePsf] ePsf] ePsf] ePsf] ePsf] ePsf] ePsf] 7 0 pQL)f{
2 ltlKnªltlKnªltlKnªltlKnª ePsf] ePsf] ePsf] ePsf] ePsf] ePsf] ePsf] 7 0 pQL)f{

3 nfkf ePsf] ePsf] ePsf] ePsf] ePsf] ePsf] ePsf] 7 0 pQL)f{
4 emfnf{ª ePsf] ePsf] ePsf] ePsf] ePsf] ePsf] ePsf] 7 0 pQL)f{

5 l/ ePsf] ePsf] ePsf] ePsf] ePsf] ePsf] ePsf] 7 0 pQL)f{
6 u"DbL ePsf] ePsf] ePsf] ePsf] ePsf] ePsf] ePsf] 7 0 pQL)f{

7 k'mnvs{ ePsf] ePsf] ePsf] ePsf] ePsf] ePsf] ePsf] 7 0 pQL)f{
8 bfvf{ ePsf] ePsf] ePsf] ePsf] ePsf] ePsf] ePsf] 7 0 pQL)f{

9 ;Tob]jL ePsf] ePsf] ePsf] ePsf] ePsf] ePsf] ePsf] 7 0 pQL)f{
10 dfkf{s ePsf] ePsf] ePsf] ePsf] ePsf] ePsf] ePsf] 7 0 pQL)f{

11 ;]dhf]ª ePsf] ePsf] ePsf] ePsf] ePsf] ePsf] ePsf] 7 0 pQL)f{
12 s^'Gh] ePsf] ePsf] ePsf] ePsf] ePsf] ePsf] ePsf] 7 0 pQL)f{

13 w"jf+sf]^ ePsf] ePsf] ePsf] ePsf] ePsf] ePsf] ePsf] 7 0 pQL)f{
14 lqk'/]Zj/ ePsf] ePsf] ePsf] ePsf] ePsf] ePsf] ePsf] 7 0 pQL)f{

15 ;Nofgsf]^ ePsf] ePsf] ePsf] ePsf] ePsf] ePsf] ePsf] 7 0 pQL)f{
16 ;Nofg^f/ ePsf] ePsf] ePsf] ePsf] ePsf] ePsf] ePsf] 7 0 pQL)f{

17 d'nkfgL, ePsf] ePsf] ePsf] ePsf] ePsf] ePsf] ePsf] 7 0 pQL)f{
18 a"(fy"d, ePsf] ePsf] ePsf] ePsf] ePsf] ePsf] ePsf] 7 0 pQL)f{

19 a;]/L ePsf] ePsf] ePsf] ePsf] ePsf] ePsf] ePsf] 7 0 pQL)f{
20 cfluGrf]s ePsf] ePsf] ePsf] ePsf] ePsf] ePsf] ePsf] 7 0 pQL)f{

21 r}gk"/ ePsf] ePsf] ePsf] ePsf] ePsf] ePsf] ePsf] 7 0 pQL)f{
22 vl/ ePsf] ePsf] ePsf] ePsf] ePsf] ePsf] ePsf] 7 0 pQL)f{

lzjk|;fb l/hfn

e]if/fh l#ld/]

x/]Gb|s"df/ >]i&

>L lhNnf ljsf; ;ldltsf] sfof{no, wflbª>L lhNnf ljsf; ;ldltsf] sfof{no, wflbª>L lhNnf ljsf; ;ldltsf] sfof{no, wflbª>L lhNnf ljsf; ;ldltsf] sfof{no, wflbª

1

/f]lx)fL cof{n

bfdf]b/ cof{n

k"ikf yfkfdu/

 cf=j=2069.070 sf] ufp+ ljsf; ;ldltx?sf] Go'gtd zt{ - cf=j=2069.070 sf] ufp+ ljsf; ;ldltx?sf] Go'gtd zt{ - cf=j=2069.070 sf] ufp+ ljsf; ;ldltx?sf] Go'gtd zt{ - cf=j=2069.070 sf] ufp+ ljsf; ;ldltx?sf] Go'gtd zt{ - MC_ dfkg ;DjGwL PsLs[t gtLhf ljj/)f_ dfkg ;DjGwL PsLs[t gtLhf ljj/)f_ dfkg ;DjGwL PsLs[t gtLhf ljj/)f_ dfkg ;DjGwL PsLs[t gtLhf ljj/)f

2

3

4

5

6

7

cg";"rL 7M  Go"gtd zt{sf] PsLs[t  k|ltj]bgcg";"rL 7M  Go"gtd zt{sf] PsLs[t  k|ltj]bgcg";"rL 7M  Go"gtd zt{sf] PsLs[t  k|ltj]bgcg";"rL 7M  Go"gtd zt{sf] PsLs[t  k|ltj]bg

lzjk|;fb e§
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/ uf=lj=;=sf] uf=lj=;=sf] uf=lj=;=sf] uf=lj=;=sf] 

gfdgfdgfdgfd

of]hgf tyf of]hgf tyf of]hgf tyf of]hgf tyf 
ah]^ ah]^ ah]^ ah]^ 
:jLs[lt -1_:jLs[lt -1_:jLs[lt -1_:jLs[lt -1_

cfly{s k|utL cfly{s k|utL cfly{s k|utL cfly{s k|utL 
;dLIff-2_;dLIff-2_;dLIff-2_;dLIff-2_

cg"bfgsf] cg"bfgsf] cg"bfgsf] cg"bfgsf] 
pkof]u tyf pkof]u tyf pkof]u tyf pkof]u tyf 
cfoJoo cfoJoo cfoJoo cfoJoo 
clen]v -3_clen]v -3_clen]v -3_clen]v -3_

clGtd clGtd clGtd clGtd 
n]vf n]vf n]vf n]vf 
k/LIf)f  -k/LIf)f  -k/LIf)f  -k/LIf)f  -
4_4_4_4_

lhG;L lhG;L lhG;L lhG;L 
Joj:yfkg -Joj:yfkg -Joj:yfkg -Joj:yfkg -
5_5_5_5_

;fdflhs ;fdflhs ;fdflhs ;fdflhs 
;/Iff ;/Iff ;/Iff ;/Iff 
sfo{qmd-6_sfo{qmd-6_sfo{qmd-6_sfo{qmd-6_

sd{rf/L sd{rf/L sd{rf/L sd{rf/L 
Joj:yfkg  Joj:yfkg  Joj:yfkg  Joj:yfkg  
-7_-7_-7_-7_

pQL)f{;'pQL)f{;'pQL)f{;'pQL)f{;'
rs rs rs rs 
;+Vof;+Vof;+Vof;+Vof

cg"QL)f cg"QL)f cg"QL)f cg"QL)f 
{;"rs {;"rs {;"rs {;"rs 
;+Vof;+Vof;+Vof;+Vof

;dli^ut  ;dli^ut  ;dli^ut  ;dli^ut  
kl/)ffd kl/)ffd kl/)ffd kl/)ffd 
pQL)f{÷cg"QL)f{pQL)f{÷cg"QL)f{pQL)f{÷cg"QL)f{pQL)f{÷cg"QL)f{

d"Nofª\sg stf{d"Nofª\sg stf{d"Nofª\sg stf{d"Nofª\sg stf{

>L lhNnf ljsf; ;ldltsf] sfof{no, wflbª>L lhNnf ljsf; ;ldltsf] sfof{no, wflbª>L lhNnf ljsf; ;ldltsf] sfof{no, wflbª>L lhNnf ljsf; ;ldltsf] sfof{no, wflbª
 cf=j=2069.070 sf] ufp+ ljsf; ;ldltx?sf] Go'gtd zt{ - cf=j=2069.070 sf] ufp+ ljsf; ;ldltx?sf] Go'gtd zt{ - cf=j=2069.070 sf] ufp+ ljsf; ;ldltx?sf] Go'gtd zt{ - cf=j=2069.070 sf] ufp+ ljsf; ;ldltx?sf] Go'gtd zt{ - MC_ dfkg ;DjGwL PsLs[t gtLhf ljj/)f_ dfkg ;DjGwL PsLs[t gtLhf ljj/)f_ dfkg ;DjGwL PsLs[t gtLhf ljj/)f_ dfkg ;DjGwL PsLs[t gtLhf ljj/)f

23 Hofd?ª ePsf] ePsf] ePsf] ePsf] ePsf] ePsf] ePsf] 7 0 pQL)f{
24 (f]nf ePsf] ePsf] ePsf] ePsf] ePsf] ePsf] ePsf] 7 0 pQL)f{

25 d}bL ePsf] ePsf] ePsf] ePsf] ePsf] ePsf] ePsf] 7 0 pQL)f{
26 gnfª ePsf] ePsf] ePsf] ePsf] ePsf] ePsf] ePsf] 7 0 pQL)f{

27 ;nfª ePsf] ePsf] ePsf] ePsf] ePsf] ePsf] ePsf] 7 0 pQL)f{
28 d"/nLeGHofªd"/nLeGHofªd"/nLeGHofªd"/nLeGHofª ePsf]ePsf]ePsf]ePsf] ePsf] ePsf] ePsf] ePsf]ePsf]ePsf]ePsf] ePsf]ePsf]ePsf]ePsf] ePsf]ePsf]ePsf]ePsf] 7 0 pQL)f{

29 gLns)& ePsf] ePsf] ePsf] ePsf] ePsf] ePsf] ePsf] 7 0 pQL)f{
30 ;f+sf]if;f+sf]if;f+sf]if;f+sf]if gePsf]gePsf]gePsf]gePsf] ePsf] ePsf] ePsf] ePsf] ePsf]ePsf]ePsf]ePsf] ePsf] 6 1 cg"QL)f{cg"QL)f{cg"QL)f{cg"QL)f{

31 vfN^] ePsf] ePsf] ePsf] ePsf] ePsf] ePsf] ePsf] 7 0 pQL)f{
32 ;"gf}nfahf/ ePsf] ePsf] ePsf] ePsf] ePsf] ePsf] ePsf] 7 0 pQL)f{

33 s"Dk"/ ePsf] ePsf] ePsf] ePsf] ePsf] ePsf] ePsf] 7 0 pQL)f{
34 sNn]/L ePsf] ePsf] ePsf] ePsf] ePsf] ePsf] ePsf] 7 0 pQL)f{

35 uf]ugkfgL ePsf] ePsf] ePsf] ePsf] ePsf] ePsf] ePsf] 7 0 pQL)f{
36 s]jnk'/ ePsf] ePsf] ePsf] ePsf] ePsf] ePsf] ePsf] 7 0 pQL)f{

37 hLjgk'/ ePsf] ePsf] ePsf] ePsf] ePsf] ePsf] ePsf] 7 0 pQL)f{
38 %q]b]p/fnL ePsf] ePsf] ePsf] ePsf] ePsf] ePsf] ePsf] 7 0 pQL)f{

39 gf}lj;] ePsf] ePsf] ePsf] ePsf] ePsf] ePsf] ePsf] 7 0 pQL)f{
40 t;k"{ ePsf] ePsf] ePsf] ePsf] ePsf] ePsf] ePsf] 7 0 pQL)f{

41 yf+qm] ePsf] ePsf] ePsf] ePsf] ePsf] ePsf] ePsf] 7 0 pQL)f{
42 e"d]:yfg ePsf] ePsf] ePsf] ePsf] ePsf] ePsf] ePsf] 7 0 pQL)f{

43 a}/]gL ePsf] ePsf] ePsf] ePsf] ePsf] ePsf] ePsf] 7 0 pQL)f{
44 ls/f~rf]s ePsf] ePsf] ePsf] ePsf] ePsf] ePsf] ePsf] 7 0 pQL)f{

45 lk*f ePsf] ePsf] ePsf] ePsf] ePsf] ePsf] ePsf] 7 0 pQL)f{

ab|Lk|;fb (sfn

13

/fdrGb| ltjf/L

8

9

10

11

12

14

x/]Gb|s"df/ >]i&

s[i)fk|;fb kf]v/]n

zf/bf vltj*f

dw";"bg e§/fO{

ljGWof sfsL{



qm=;+=qm=;+=qm=;+=qm=;+=

Sn
i^

/
Sn

i^
/

Sn
i^

/
Sn

i^
/ uf=lj=;=sf] uf=lj=;=sf] uf=lj=;=sf] uf=lj=;=sf] 

gfdgfdgfdgfd

of]hgf tyf of]hgf tyf of]hgf tyf of]hgf tyf 
ah]^ ah]^ ah]^ ah]^ 
:jLs[lt -1_:jLs[lt -1_:jLs[lt -1_:jLs[lt -1_

cfly{s k|utL cfly{s k|utL cfly{s k|utL cfly{s k|utL 
;dLIff-2_;dLIff-2_;dLIff-2_;dLIff-2_

cg"bfgsf] cg"bfgsf] cg"bfgsf] cg"bfgsf] 
pkof]u tyf pkof]u tyf pkof]u tyf pkof]u tyf 
cfoJoo cfoJoo cfoJoo cfoJoo 
clen]v -3_clen]v -3_clen]v -3_clen]v -3_

clGtd clGtd clGtd clGtd 
n]vf n]vf n]vf n]vf 
k/LIf)f  -k/LIf)f  -k/LIf)f  -k/LIf)f  -
4_4_4_4_

lhG;L lhG;L lhG;L lhG;L 
Joj:yfkg -Joj:yfkg -Joj:yfkg -Joj:yfkg -
5_5_5_5_

;fdflhs ;fdflhs ;fdflhs ;fdflhs 
;/Iff ;/Iff ;/Iff ;/Iff 
sfo{qmd-6_sfo{qmd-6_sfo{qmd-6_sfo{qmd-6_

sd{rf/L sd{rf/L sd{rf/L sd{rf/L 
Joj:yfkg  Joj:yfkg  Joj:yfkg  Joj:yfkg  
-7_-7_-7_-7_

pQL)f{;'pQL)f{;'pQL)f{;'pQL)f{;'
rs rs rs rs 
;+Vof;+Vof;+Vof;+Vof

cg"QL)f cg"QL)f cg"QL)f cg"QL)f 
{;"rs {;"rs {;"rs {;"rs 
;+Vof;+Vof;+Vof;+Vof

;dli^ut  ;dli^ut  ;dli^ut  ;dli^ut  
kl/)ffd kl/)ffd kl/)ffd kl/)ffd 
pQL)f{÷cg"QL)f{pQL)f{÷cg"QL)f{pQL)f{÷cg"QL)f{pQL)f{÷cg"QL)f{

d"Nofª\sg stf{d"Nofª\sg stf{d"Nofª\sg stf{d"Nofª\sg stf{

>L lhNnf ljsf; ;ldltsf] sfof{no, wflbª>L lhNnf ljsf; ;ldltsf] sfof{no, wflbª>L lhNnf ljsf; ;ldltsf] sfof{no, wflbª>L lhNnf ljsf; ;ldltsf] sfof{no, wflbª
 cf=j=2069.070 sf] ufp+ ljsf; ;ldltx?sf] Go'gtd zt{ - cf=j=2069.070 sf] ufp+ ljsf; ;ldltx?sf] Go'gtd zt{ - cf=j=2069.070 sf] ufp+ ljsf; ;ldltx?sf] Go'gtd zt{ - cf=j=2069.070 sf] ufp+ ljsf; ;ldltx?sf] Go'gtd zt{ - MC_ dfkg ;DjGwL PsLs[t gtLhf ljj/)f_ dfkg ;DjGwL PsLs[t gtLhf ljj/)f_ dfkg ;DjGwL PsLs[t gtLhf ljj/)f_ dfkg ;DjGwL PsLs[t gtLhf ljj/)f

46 uh"/L ePsf] ePsf] ePsf] ePsf] ePsf] ePsf] ePsf] 7 0 pQL)f{
47 dxfb]j:yfg ePsf] ePsf] ePsf] ePsf] ePsf] ePsf] ePsf] 7 0 pQL)f{

48 a]lg#f^ ePsf] ePsf] ePsf] ePsf] ePsf] ePsf] ePsf] 7 0 pQL)f{
49 w'iff ePsf] ePsf] ePsf] ePsf] ePsf] ePsf] ePsf] 7 0 pQL)f{

50 hf]uLdf/f ePsf] ePsf] ePsf] ePsf] ePsf] ePsf] ePsf] 7 0 pQL)f{

hDdf uf=lj=;= ;+Vof M 50
;a} ;'rsdf MC kf; x"g] uf=lj=;= ;+VofM 49
cg"QL)f{ x"g] uflj; ;+VoM 1

tof/ ug]{ r]s ug]{ ;b/ ug]{

15 uf]kfn kf]v/]n


